
TTari 1.1 

1. fra EAT fa 
(a) 1 aTa = 10*H TR 

(b) 1 fafA4a = 10 H ETR 
(c) 1 s 10H TTa 

(d) 1 g = 10 fHfcTA 
(e) fatHA = 10 FIE 

3H -73,75,307 



37-9,05;00,041 

3-7,52,21,302 

3HT-58,423, 202 

3-23,30,010 

3. 

frfay 
a) 87595762 

FIE, VT7 R, Te 7 (8,75,95,762) I 

THTH TR, HT H aTH (87 595,762) I 

b) 85462283 

a, T43 EUR, Ht farei (8,54,62,283) 

aTE T, faret (85,462,283) 1 
(c) 99900046 

ra fia (9,99,00,046) I 

FTR, fesuTAA (99,900,046) 
(d) 98432701

ra, Tr EHR, FTA E (9,84,32,701) 

i 
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